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1a. Do you agree with Samuel?

.

= = The Base 10
- shows the
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Explain why.
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1b. Do you agree with Lara?

The Base 10
shows the
number 41.
Lara
Explain why. caan
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2a. If Hannah spins the highest number
on her spinner, what will the number be?
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2b. If Koby spins the highest number on
his spinner, what will the number be?
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3a. Tim and his friends go paintballing.

A

3b. Pria and her friends have finished their
times tables test.
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Find and explain the errors in Tim's
pictogram.
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Find and explain the errors in Pria's
pictogram.
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4a. Do

Rufus

Explain why.
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you agree with Rufus?

The Base 10
shows the
number 10.

4b. Do you agree with Georgia?
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The Base 10
shows the
number 55.
Georgm
Explaln why. aTnuae
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5a. If Holly spins the highest number on

her spinner, what will the number be?
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5b. If Theo spins the highest number on his
spinner, what will the number be?
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éa. Claire and her friends play a football

éb. Nicky and her friends bake some

match. biscuits.
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Find and explain the errors in Claire’s

pictogram.
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Find and explain the errors in Nicky's
pictogram.
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